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<a:p 42 J: WATER RESOURCES PLANNINC (July, 2(18) 

SI·~CTf()N A: COMPU LSORY.Q lJ ESTION 

QlJli~STION ) 

a) Explain two methods or economic analysis in water resources planning. (10 marks) 

h) Determine the value or E75,500.00 in ~o years to come if it is deposited into a bank 

accollnt curning an interest rate or IOIX) annually. (15 marks) 

c) Explain how the belle/its and costs are estahlished in a 1100d protection project. 

(15 marks) 

(40 Marks) 

SECTiON B: ANSWER ANY TWO QUESTIONS 

QUESTION 2 

a) Describe the tests of a good plan in water resources planning. (15 marks) 

h) Explain how planning in the sector of water resources can save money. (15 marks) 

(30 Marks) 

QlJESTION 3 

a) Explain the causes of 11oo<1s. (15 marks) 

b) 'Flood zoning is not an efj~etivc way of flood damage reduction especially in developing 

countries'. Discuss the validity of this statement. (15 marks) 

(30 Marl{s) 

QlJ (~ST(()N 4 

a) Explain the qualities of arable land. (15 marks) 

h) Discuss the importanee of water structures in an irrigation project (15 marks) 

(30 Marks) 

QUESTION 5 

Distinguish between riparianisl11 and prior appropriation in water law. (30 Marks) 
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